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# E H H
® Ey # 7l 5 g@'é %i |k RS B & pH po | BoD | cop | ss (é‘;%e?‘%) (’&Hg) NH,~N | NO,N | NOs-N Egﬁ 0-N {%Fg%l(%m%‘
X U P & FEh | 9:30| 12.6| 13.0| 4 3 7.2{ 19.5 11| <o0.5| 0.8 1 <0.5 <0.5| 0.98| 0.22 2.2 2.5| <0.04 26
B /i3 1% R | 9:15| 12.6| 13.0 e pii 3] 7.2 19.4 10| <0.5 0.9 2 <0.5 <0.5| <0.02| 0.09 10 10| o.11 190
R I * S & FEh | 14:05| 19.2| 15.0| 4EfE 3 7.20 19.4 10| <0.5| 0.6 2 <0.5 <0.5| <0.02| 0.07 9.2 9.3| 0.07 150
® F O T B AL | 11:44| 19.3| 17.0| 4Ef pii 3] 7.3; 19.5 10 1.8 2.4 4 <0.5 <0.5| 0.03] 0.20 8.4 8.6/ 0.63 62
B2 B (& F¥) FEi | 10:27| 18.0| 15.0| &R 3 7.1 19.4| 9.6 2.7| 3.4 8 <0.5 <0.5(<0.02 0.22 7.4 7.6] 0.09 160
X B Bl [ii] 7 1% AL | 11:03| 19.1| 16.0 4Ef fii 3] 7.3) 19.7 10 1.3 4.2 7 <0.5 <0.5| <0.02| 0.06 6.3 6.3 0.08 160
X B H® (RE) EEh | 11:15( 19.9] 15.0| #EE 3 7.3) 19.5 10/ 2.2 2.8 8 <0.5 <0.5| <0.02| 0.20 5.4 5.6/ 0.22 150
T AN N B B & W4 | 13:15| 18.4| 18.0| EE pii 3] 7.2 19.8 11 0.8 <0.5 2 <0.5 <0.5| <0.02[ 0.13 4.3 4.4/ 0.09 110
= & O — B B B FEh | 11:49| 18.0| 13.0| #E& R 7.4] 19.4 11| <0.5| <0.5 1 <0.5 <0.5| <0.02| o0.07| o0.74| o0.80| o0.11 38
[ B 1% 4 | 13:37| 18.8| 16.0 fEf mR 7.5 19.4 11| <0.5| <0.5 1 <0.5 <0.5| 0.20( o0.07 2.6 2.7| <0.04 66
e = H & FEh | 9:51| 12.5| 12.0| #&& R 7.6; 19.7 11| <0.5| <0.5 4 <0.5 <0.5| o0.21] 0.06 1.2| 1.20| <0.04 24
X B K ® & R | 9:50| 14.6| 14.0 fEf ER 7.2 19.8 14 2.1 1.2 4 <0.5 <0.5| <0.02| 0.12 3.7 3.8/ 0.50 460
Il X & (B B ) FEiL | 9:33| 14.0| 15.0| EE& R 7.3; 19.4| 9.6| 87| 7.9 6 <0.5 <0.5 3.7 o.61 11 12| <o0.04 80
WA X 2/ (& B ) 4 | 10:10| 15.8| 16.0 4Ef ER 7.1 19.4 10 1.4 3.3 6 <0.5 <0.5| <0.02| 0.18 10 11| 0.45 880
B® %) TR O ®E d ) FEh | 10:15( 15.1| 13.0| #&E& B 7.6 19.4 11| <0.5| <0.5 1 <0.5 <0.5| <0.02| 0.07 2.1 2.2| 0.09 90
=yl TEERK (H 1) R | 10:26| 13.3| 14.0 fEf mR 7.6 19.6 10 0.6 <0.5 3 <0.5 <0.5| 0.08( 0.07 2.0 2.1| <0.04 10
oy ¥ N H BB (E ) FEh | 10:48| 14.6| 13.0| & R 7.5! 19.5 10| <0.5| <0.5 6 <0.5 <0.5| <0.02| o0.11 3.4 3.5/ 0.12 40
=l R O(F ¥ ) i | 10:45| 17.6| 14.0 fEf ER 7.2 19.4 10| <0.5| <0.5 2 <0.5 <0.5| 0.21| 0.06 1.7 1.8| <0.04 50
2 SHKE (BukB) FEdU | 13:25| 19.7| 11.0|%#& (b) |urerir @ | 7.4 19.4| 8.9 30 68 21 <0.5 <0.5 1.5 1.7 27 29 4.7 2, 000
3 EHeAkE FEiL | 13:38( 17.3| 13.0|%#@& (3) |Lrsar @0 | 7.2 19.4 12| 8.4 4.3 3 <0.5 <0.5 0.3 0.66 4.6 5.2 1.0 800
Bk EAR (2. 35HKIBENR) FEdL | 13:56| 18.1| 15.0|%#e (B) |umerm @ | 7.2 19.4| 9.4 22 10 13 <0.5 <0.5| 12.0 5.3 23 28 3.9 2, 000
FINE ORRE R | 11:57| 20.5| 16.0 4Ef ER 7.1) 19.4 11| <o0.5 0.7 <1 <0.5 <0.5| <0.02| 0.12 9.3 9.4 0.44 46
4 5PKE (b EUOREMNT) FEd | 9:08| 10.8| 12.0|%& (B) |FAR (% 7.90 19.4 7.4 42 24 4 <0.5 <0.5| 0.19 4.0 17 21| 0.29 1,500
5 BHEAKER (IS 9 ME) FEh | 11:31] 20.6| 14.0| 4Ef 31 7.1 19.4 10 12| 5.0 3 <0.5 <0.5| 0.49| 0.53 8.5 9.0| <0.04 610
ALHERR PR bR (BMBiA) | BER | 14:17| 18.4[ 12.0|%k®a ) |Lrsar @ | 7.2 19.4| 4.4 49 57 17 <0.5 <0.5 1.3 1.3 14 15 23 1,300
E ® i3 FR & 0.5/ 0.5/ 0.5 1 0.5 0.5| 0.02| 0.02] o0.02] o0.04] o0.04 1
A -2 il #* ba & 6.5<P<8.5 |7.5<P|P=<2.0 P=25.0 P<10.0 P=200
B B pir p: # & 6.5=P=8.5 [5.0=P|P=<3.0 P<25.0 P<10.0 P=1, 000
C H il #=* ba & 6.5<P=<8.5 |5.0<P|P=<5.0 P=50.0 —
E e Eir P % & 6.0=P=<8.5 |2.0<P|P<10.0 - —




